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1. M= ARENEPEAIK /)

()R, ~ 4kQ), E = 3.046V:

[OEEES}=e7S

Ry = 5000.0, Ry = 5000.0Q, Ry = 4052Q, X4 Ry KK/, 8E] ARy =3Q, An=0.1
DR G AT DATH A H

Ry 0.2R1 ARy
= — Rg =4052Q, R, = —————— = 5.80)
R Ry Ry 05 R An- R, 5.8
RO RoRl Rl
— 2, (10 2 2 2 — 90
OR, \/(6R2?) =+ (R2 UR1) + ( R% URQ) + (R2 O-Ro) 9

R, + op, = (4052 £ 9)Q
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Ry = 5000.0Q, Ry = 4000.092
H—WINELH R0 = 32390, ARy =3Q, An=0.1, ff 6Ry = 250EM = 530
UL Ry0 = 50590, ARy =3Q, An =0.1, H 6R,y = 2240 — 5380

i Tk By A R RIS A E LN OR, = ([ 50R2, + 50R2, = 5.6Q #tA
Ry = \/RigRa = 40480

OR, OR, Ry 1 Ry 1
—+/0R2 2 _— T 2 — ,/6R2 - 2 - 2 — 60
OR, \/R”Jr(aRmaRm) +(6R2OaR20) \/Rx+R10(2oRm) +R20(2O'R20) 6

R, + op, = (4048 £ 6)Q

(2)R, ~ 3609, FE = 3.046V:

OIEEE=¢

Ry = 350.09, Ry = 300,09, Ry = 318.5Q, M4 Ry IR/, 53] ARy =0.1Q, An = 0.4
BRI AT PATH B H

Rl 02R1AR0
R, = —Ry=371.690, R, = ————— = 0.06Q2
Ry An - Ry
Ry RoRy Ry
OR, = \/(5Rx)2 + (EUR1)2 + ( R% O'R2)2 + (EO'RO)Q = 0.612

R, +op, = (371.6 +0.6)Q
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Ry = 400.02, Ry = 300.09

H—WIMRLH R0 =278.7Q, ARy =0.1Q, An = 0.3, f§ 6Ry = 220800 — 0,090
5 WRIELH Ry0 = 495.5Q, AR = 0.19, An = 0.5, ] 6Ryy = 230000 = 0,030
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i e MR R R AR RER R, = [ L8R2, + L6R2, = 0.070 #h
R, =V RigR29 = 371.6Q2

OR, IR, Ry 1 Ryo 1
=4 /0R2 2 _—T 2 — ,/5R2 Z 2 - 2 — .
OR, \/RxﬂaRmaRm) +(8R200320) \/R£+R10(20R1°) +R20(20R20) 0.3

R, +op, = (371.6 +0.3)Q

(3)R, =~ 47Q, E = 3.048V:
OIEEE=¢7
Ry =50.0Q, Ry =400.00, Ry = 376.6Q0, 244% Ry MK/, 3% ARy =0.1Q, An =3.7
BRI AT PATH B H
Rl 02R1ARO
R, = =Ry =47.08Q, 6R, = ———— = 0.007Q
Ry An Ry 0007

R RoR
oR, = \/(531)2 + (G, om)” + (g o) +
2

R, +op, = (47.1+0.4)Q

QI
Rl - 509, RQ = 450
H—WIMELH R0 = 4249, ARy =0.1Q, An =43, f R, = 22180 — 00050

TR Ry0 = 52.3Q0, ARy =0.1Q, An=4.1, 4 6Rys = % = 0.0049

it B B SRS R LN OR, = (/LR2, + 16R2, = 0.005Q 8

Ry = v/ RipR20 = 47.09Q2
OR,

. OR, Ry 1 Ry 1
= /0R2 2 4 (o 0R)? = ([ OR2 + =22 (S0 R0 )2 + o2 (S0 Ry )2 = 0.040
URz \/ xr + (3R10 URIO) + (8R20 URZO) \/ xr + RlO (QORID) + RQO (20R20)

R, +og, = (47.09 +0.04)Q
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5= R | Ro
Ri+ Ry + Ro+ R + Rg(2+ 72 + 72)
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(1) \IEHE E:

Pl Ry = 400.0Q, Ry =400.0Q, R, = 371.6Q, “F#ilf Ry = 371.6Q. H, Xt An fl AR,
BETRMER S, HRIMRRIEN b, MRBIZEATURRAN S = kR

An

E/v ARy/Q 01 02 03 F Sk Sthr
3.060 03 07 11 40 1486 1483
4.561 06 11 18 6.0 2230 2210
6.123 08 17 25 85 3159 2068
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(2)R2 j(/J\Z

4] E = 5.035V, Ry = 400.09, R, = 371.6Q
Re/Q  Ro/Q an 2 S S

? 0 ARy/Q 01 02 03 Fep Thr
200.0 185.8 1.8 3.1 4.9 15.5 2878 3254
400.0 371.6 0.8 1.2 2.0 6.0 2230 2440
600.0 557.5 0.3 0.8 1.1 4.0 2230 1952

2. REPUE S BEME HFH Ry AL

(S)Rl j(/J\:

4] E = 5.035V, Ry = 400.02, R, = 371.6Q
Ri/Q  Ro/Q an k s s

' 0 ARy/Q 02 04 06 Fep hr
200.0 743.3 0.7 1.1 1.8 2.75 2044 2199
400.0 371.6 1.1 2.6 3.8 6.75 2508 2440
600.0 247.7 1.8 3.7 5.4 9.0 2230 2324
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1. B RIIRIHEE
(1) A T = 4.000mA, 1F SRR (7 F R 8

75T = 0.2°C B ENTH, 6 R, = 100.2Q, Uy = 0.03mV.

(2) £E 0 ~ 100 °C e[ Py AT I 5
P EAFBNE Uy M T HATEIEIA Upus = aT + b, 133
a = 0.76065mV /°C
b=—0.01mV
r = 0.999991
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Oan = 2 — 0.00073mV /°C
n—2
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T BRI B RZE, T Uy BIFEERZE, IARYE 5 R HIYERE (2] 1511
ovu,.,5 = 0.06mV, FTUARIE o 1] A FAHE N

- da = Uout - Uout au
0aB = ( OUp)? = |08, D _l=m s ]2 = = 0.00057mV /°C
\l g anut \J Uou 7;21 Zi:l(Uout - Uout)2 \/Z?:l(Uout _ ﬁout)2

B3] a FIBAHIERE 0, N:

04 =1\/02,4 4+ 025 =0.0009mV /°C

T/°C Uput/mV T/°C Uput/mV
5.0 3.72 55.0 41.94
10.0 7.54 60.0 45.75
15.0 11.37 65.0 49.51
20.0 15.22 70.0 53.25
25.0 19.02 75.0 57.08
30.0 22.92 80.0 60.90
35.0 26.47 85.0 64.60
40.0 30.48 90.0 68.39
45.0 34.30 95.0 72.01
50.0 38.18 100.2 76.18
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2. WHIHEENEE R A RETHEE

HEB AN Usr = RROAAT K Upwy — T MRS HE A = 22, HAdH o =
0.001mA, og, = 0.1Q, FLA

%
A -
V= = 8T96°0T
a = Ay \/(U“)2+(GI°)2+(R°) = 0.006°C™
a IO Ro

Ay 04, = (3.796 + 0.006)°C~"
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